?@ T o3 é %% Nhan s6 thap phan v6i 10,100,100

Tén:_ Ngaythang:_ Piém:__
1.235 x 10 = 7.665 % 1000 =
7.827 x 10 = 6.34 x 10 =
9.604 x 100 = 5.993 x 100 =
10.069 x 100 = 1.322 x 1000 =
7.548 x 100 = 5.005 x 1000 =
6.213 x 10 = 1.02 x 100 =
5.976 x 10 = 5.958 x 1000 =
8.949 x 1000 = 0.141 x 10 =
7.073 x 1000 = 3.18 x 10 =
9.409 x 10 = 4.615x10=
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Nhan sd thap phan véi 10,100,1000

Tén:
1.235 x10=12.35
7.827 x 10 = 78.27

9.604 x 100 = 960.4

10.069 x 100 = 1006.9

7.548 x 100 = 754.8

6.213 x 10 = 62.13

5.976 x 10 = 59.76

8.949 x 1000 = 8949

7.073 x 1000 = 7073

9.409 x 10 = 94.09

Ngay thang:

7.665 x 1000 = 7665

6.34 x 10 =63.4

5.993 x 100 = 599.3

1.322 x 1000 = 1322

5.005 x 1000 = 5005

1.02 x 100 = 102

5.958 x 1000 = 5958

9.141 x 10 =91.41

3.18 x 10 =31.8

4.615 x 10 = 46.15
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